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e To cross all the unused pages of answer book at the end of the examination.

o Except the answers of English language, all other answer may be written ir Hindi or
English. . . i . ; o Sy

e Every new Question should start from a fresh page. k LR

o Allthe sub parts of a queg(tion should be attempted together:

. MoblIes/calculatofs/oagers etc are not allowed in the examination hall, ctherwise
* candidates will be debarred from the exarnination.

« Candidates should not write their names, roil number, initial deS|gnat|on signature,

—-—zddfess or any. otheridentification m».:{.xrwsanjwhere on the answer pape., =5 thisadll -
disqualify thiern from the sélection. They should not draw any symbol sign or write
any such tnings as Snri Ganeshay Namah, Hari Om, Shri Swami Sar'ﬁarth,et’c on their.
answer paper. » SR

«  They should not use different colored pens, other than blue or black pens for
writing ihe exarnination. :

e In case of any ambngunty, English version Of questlon paper shouid be Laken as

“authentic. i Vo e i et

e in the answer to the objectlve typ}e questlons no correctlon of an) type is
permitted. In case of any correction is made that-answer shall not be evaluated at
ail. The corrections may be any one of the ’rollowmg types —
a) Cutting ) £ g
o) Over writing - : : \
¢) Erasing ;

¢d) Scoring off ticked answer in multiple choice and ticking another answer zrd

e) Modifying the ' :

.u The questlon paper ¢ consist of 2 par}s Part-l  comprising questlons on_ General
aptltude, Engllsh Language, General KnOWIedge & Current Affair of 40 marks and
Zart-1l comprising questions on the Technical subject of 60 marks.
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6. Population wise biggest state in India is__ §

Parg|

—

H—Z{. *
Q.1) Fill in the blanks/ 1%‘*‘7" Fa 10X1=10 MARKS

di
1. Which ancient civilisation was locate@ 10 the Ingyg Valley

Ry et a ey o wear A

2. The language used by computers to process datj js

wﬁmmamwfmmﬁmmﬂm G

3.CNG stands for =
'é‘rtr?fsﬁ_ FT AdE

— Bl

4, is the founder of facebook.

FHGH & FEIIH ¢

N
R |
N

5.1SRO HQ is situated in L, R

Wﬁm#ﬁm#ﬂﬁ@?m ‘ gl

7. National bird of India is

Bz o is tallest building of the world.

_ G & g FT $ARA B

&

o

9. Nasik is location near river.

Ml

10. Liquid form of Water has the maximum densnty at 4 Deg Celsius.
(True/False)

m*mmﬁaﬁmm4@m%m€vm — |

Q.2) Write the full form °f/qtﬁ"'€qﬁ1@'ﬂ' 10X1=10 MARKS
1. INSAS 2. IRCTC N 4.GDP 5. CRPF
6. ATM 7.BRICS 8. NSE 9. CBSE 10. LIC

"o
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,43/"' d;B) Choose the correct answer/ m?r\m el \ 10X1=10 MARKS
4 ° 3

1. The world's first nation 5G mobile network was launched by which country? gferar
T I 5G FAINIS Aca o6 &2 A Ffeg frar?

Japan

Agia
South Korea
Malaysia

Eall S

2. The roots of 100x: = 20x + 1= 0 is;

(a)1/20 and 1/20
(p) 110 and 1/20
(c) 110 and 1/10
(d) None cf the above

3:Which of the fohowuno is a prime nufiber? ﬁmﬁ\ﬁﬁﬁﬁmﬁm% ?
a)517 K
b) 559 '
Q) 571
d) 533

4. Which company bought the populer“\"/ideo teleconferencing software ‘Skype’? G2
FOaAT A AFRT DNEAT NIRRT TFCdI ‘Skype’ @ar?

a) Google i b) Accenture c) Oracle
d) Microsoft e) None of these

5. Which supercomputer is developed by the Indian scientists? gqr{ﬁ]—q }}mﬁqﬁ- -
@l AT W © ma'\r e T :

a) Param SN b) Super: 301

d) CRAY YMP b e) None of these

=S

L \

‘&
P

c) Co’mpaq'bfesario

6. Which web browser is prowded default with a windows machine? ﬁ‘sﬁsr T &
T F AT A9 §3eR Rutee T & Fa e I ¥

af Opera b) Internet Explorer - ¢)Chrome
~ d)Mosaic . e) Nonethhese

3
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" 7. Which of the following is a 5ec013" MEMory deyicao oy 3 @ et AT o

AR AAdr Raed o7
a) CPU b) :Lue of th, c) floppy disk
d) Mouse e on hese,

_.,h:
&. The shog keeper sells an article for 600 rupees | . -profit is 20% of the cost
price, find the profit. memomﬁmgl afe @ ﬂﬁmwm 20%
o, ot AT I R

a) 100 rupees

b) 250 rupees

c) 500 ru_bees

d) 120 rupees

9. The graen planet in the solar system is mmgwmrwag%‘ ?

Mars T

Uranus?B?RT

Venus Ash \ ’ .
P )

Earth €T

3

10. The angle of elevation of a ladder leaning against a wall is . 60° and the foot of ’che
ladder is 4.6 m away from the wall. The length of the ladder is

wmém%ﬁﬁmmm 97 60° & 3R Hrér o Freren aqma—cﬂt
a4, sxn?wag%lvﬂﬁa?rmé‘%

a)l.e6 b) 3.3 c) 5.7
d)9.2
Q.4) Match the following © 5X1=05 MARKS
1. Ummaid Bhavan/ 3¥3e $aa a. Maharashtra/ FgRTSZ
2. Elephanta caves/ TeitheT iy IR b. Jammu & Kashmir/ STF# AR oA
3. Jantar Mantar/ STaR H <. Delhi/ el -
4. Dal lake/ 5O 3eT - 4. Rajasthan/ TSTEATA
5. Kanchenjunga/ $a=ToeT gdg . Orissa/ HTSAT
¢ sikkim/ TafEFHH
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"b. (.opper and tm/?-ﬂ'dT AR e 4 \ '

. el

Q.5) Brief about (any one) 1X5=05 MARKS

1. Role of Al in Railways

YTd H w3S v fFH

2. Make In India in Defense sector
@ O H A 5 sfear
3.Vande Bharat Trains I IR &t

Part-1|

Q.6) Choose the correct answer | 10X1§10 MARKS

. 1.The unique property of cast |ron is |ts -

ﬂ—ﬁcﬁ HIFERT 0T gH BT

Ductlhty/a?ﬂam:f bt : e
b) Malleability / STHTAGE-TTT \ ‘
0 Toughness’/ HERT A

ry ‘d) Dampmq charaLterlstlcs/ Wﬁ'@lﬂq

2. Accordlng to Newton 3 Iaw of wscosnty, the shear stress on a layer of a flund is
to the rate of shear strain. g7 . &I AAAT & ﬁ'ﬂ'ﬂ' + HIOR, &

ﬁﬁ?tﬂﬁtﬂ Fadell & e, aa‘al??r@rarﬁ E’IHT ?‘l
a. Equal to/ 3? ER"!HT .

b. Directly proportlonal/ ey m

C. Inversely proportlonal/ Wm?ﬁ ‘

d. None of these/ sﬂﬂ' po EF’I'é el '

£
~

3. Brass is an alloy of/ draer & U A% O1g 3
a. Copper and zmc/ aisT 3R ciFFIT

c. Copper, tin and zinc/ =ieT, feet 3iX S e
d. None of these/ g?ﬁef a E‘é’ Ter

4. A kinematic chain is known as a mechanism when/ T&s faATSH ﬂ'@ﬂT G?T Tch
7 & ¥ H JET AT R T :

a. None of the links is fixed/ &g ofr fol& R 78 &

b. One of the links is fixed/ e & & U@ R g mr g

c. Two of the links are fixed/ o 37 & ar 'R oI '

d. None of these/ S7H & FIg T

N &
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5. Morse test can be conducted for/ oy ARy e arfora faar
a. Petrol engines/ Yol Folel
b. Diesel engines/ NS FTel '
C. Multi cylinder engines/ &-k'a fa SteT

d. All of these/ I gHr

6. When is the fluid called laminar? & &1 aﬁl?ﬁ e T AT 27

a) Low viscosity e a@aands

L) The density of the fluid is high 7 T T it ¢

<) Reynolds number is greater than 2000 ﬁmm 2000 ¢ 31feyw &

d) Reynolds number is less than 2000 ﬁ@m 20008 HRE

7. A pantograph is a mechanism with/ e HTHE[ UF Yeramn & ‘ T
a. Lower pairs '

b. Higher pairs

¢. Rolling pairs

d. Turning pairs -

\

8. Which of the following mechanism is an approximately straight-line motion
mechanism? ﬁ’mﬁ@aﬁﬁaﬁﬁmmmmi@ﬂﬁﬁ?ﬁ?

a) Hart's mechanisra ' L

) Watt's mechanism Do ‘ '

c) Scott Russeli's mechanism | .

d) Peaucellier mechanism ko '

9.What |s common between Rockwell, Brinell and Vickers? They pertain

to /W,Wﬁﬁﬂ%‘mwm%?a‘
T Heftra § |

a. Surface finish/ 3%y faer
b. Heat treatment/ & A= rex
C. Metal turning/ Aear =5%

- d. Hardiness/ FadRar
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10. Which of the following is the hardcst? ﬁmﬁﬁﬁﬁgmmmﬁ
a) Austenite m

b) Pearlite Udlige
¢) Bainite =g

d) Martensi .
ﬂ)\d"ensne ,31'2. 3 IE_.EW~ ' & I
Q.7) Answer the following question in short (Any Six) 6X5=30 MARKS

1. What is the Zeroth law of thermodynamics?

2 Is it that stress produce strain or strain produces stress?

m%%%m@aﬁﬂam%m@aﬁa‘ﬁﬂam‘é’

3. What is the difference bet_ween electric motor and electric generator?

$AEH T 3N FoIfFeeh Foex & € 3ok #4152

4.What is the difference between Jigs and F 1xtﬁres

F’Wﬁ?ﬁa‘fﬁ?éﬁmwm#

Q,‘,"E\plam four stroke c _/cle ln Petrol ﬂaﬂ EFF[ IT T:IR' Fﬂ?ﬁ Wﬁ w PR

6. What are the advantages of gear drivg? |

7. What is the diffcré;acc between 'laminzi‘r and turbulent flows
ATHAR 3T 31T vaTe & i T AT 82

i 05 e

« y

D e NV o

rrapel Vi |

~ i S ot
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Q.8) Answer the following in Detal! (Any two) 2%10=20 MARKS

1. What do yoﬁ mean by these heat treatment Process
tempering and hardening. Why they are useq

S YRR @ ar Aded §-UAaT, ”maTéﬁvT CFYIET 3 a»—cﬂﬂwm
IR FreT e R e !

es-Annealing, normalizing,

2. What is the difference between pump and COmpressor Wi
examples. How is compressor different from a turbine. .

99 ST T & A el FT ) SEERT F ;e sqair i R
ST &1 eaTseT & HOwT & 37T i g

ere are they used with

3. Explain tron Carbon Diagram ? Explain various compositions of FeC with thelr
significance ?

I FIET 3@ & e £ Fec?%%mmaﬂ Emm*ng—cré:m&r
JHATC?
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